ASSEMBLY INSTRUCTION FOR

MODEL: BOWEN BED KING

HARDWARE LIST

i, Bolts M8x80
Nuts M8
© Lock washer
@ Curved Washer

s Long Screws M4x60

Short Screws M4x30

M mm | 90| T >

=
% Wrench K13

= [ | N O | O ™

Step: 1




ASSEMBLY INSTRUCTION FOR

MODEL: BOWEN BED KING

FINISH

Step: 7

Step: 4

Step: 6




	AI BOWEN BED KING 1.pdf (p.1)
	Model

	AI BOWEN BED KING 2.pdf (p.2)
	Model


